ﬂh |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
U | v=6+Y, 2 | y=/x5 3) [ v=x?
x| v x| v X{ Y 1
-3|5.625 3| 5 -1] 1.000
-4 5500 2| 3.333 -4 16.000 2
-5]5.375 3| 5 -9| 81.000
4 [6.500 6] 10 6 | 36.000 N
5| 6.625 7| 11.667 8 | 64.000
4,
5.
D ly=vX6 g —— 9 |y=vx+z
x| v v — x| v 6
10| 7.745 21 1000 10 | 3.464
2 | 3.464 1 2000 2 | 2.000 7.
3 |4.242 6| 6.000 312236
7 | 6.480 01 10.000 6 | 2.828 8.
9 [7.348 = 1 5.000 7 [ 3.000
0.
10.
7) | Y=X+2 8) | Y=X’-6 9 |y=n/BxX
X|lY X Y X Y 11,
210 -11-5.000 1 | 2.828
41 -2 -6 30.000 3 | 4.808 12.
0] 2 -7143.000 4 | 5656
113 1] -5.000 6 | 6.928
416 7 143.000 7 | 7.483
10) V= ’\/X—z ll) Y=-X-8 12) Y:X/2
X[ v XY X[ v
-1] 1.000 6] -2 5 [-2.500
-3 3.000 2 110 73500
31-11
10| 10.000 10 5
1 1000 7]-15 5 | 2.500
5 | 5.000 8]-16 6| 3

w 1-10 [92[83][75]67]58]50]42[33] 25|17
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ﬂh |dentify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsa linear function (yes) or not (no). Answers
U | v=6+Y, 2 | y=/x5 3) [ v=x?
x] v x] v x| Y 1 yes
-3 5.625 3] 5 1] 1000
-4]5.500 2] 3333 ~4116.000 2 yes
55375 3| s -9181.000
4 | 6.500 6| 10 6 | 36.000 N no
5 [6.625 711667 8 ]64.000
4, no
5. no
D ly=vX6 g —— 9 |y=vx+z
Xl v <1 v x| v 6. no
10| 7.745 <1 oo 10 | 3.464
2 | 3.464 1 2000 2 | 2.000 7. Y&
3 |4.242 6| 6.000 312236
7 | 6.480 01 10.000 6 | 2.828 8. no
7 713
9 [7.348 5 | 5.000 3.000 . o
10. no
7) | Y=X+2 8) | Y=X’-6 9 |y=n/BxX
XlY X Y X Y 11. YES
210 -11]-5.000 1 | 2.828
4] -2 -6 | 30.000 3 | 4.898 12. yes
0] 2 -7143.000 4 | 5656
113 11-5.000 6 | 6.928
416 7 | 43.000 7 | 7.483
10) V= ’\/X—z ll) Y=-X-8 12) Y:X/2
x| v XY x| Y
-1] 1.000 6] -2 5 [-2.500
-3 3.000 2 110 73500
3|-11
10]10.000 10| 5
1 [ 1.000 7]-15 5 | 2.500
5 | 5.000 8]-16 6| 3

w 1-10 [92[83][75]67]58]50]42[33] 25|17
www.CommonCoreSheets.com 11-12| 8| 0
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